R KT A I03FERS 28PN £ 0% Fjcd £ 4

103 # 127 09 p =4
© EHFTIVI03E 077 28 P % B (- )F ¥ 1030110661 52% &

CBAFI(ARA R FAEY)

_ ’l’idﬁ’

’2 i,
AN F?'J ;’g; F' &\E EJJ

ey
44
“ml
T g
ey
a4
-rs\\_-- ok

4 b
&
P

BART E

%/{‘]ﬁ‘ b'? )J- § /J

= 4Bk
avh§,ﬁ

: 15,550 9,730 25,280 1,000 2k
et B

';+ %J%‘f %

R

KT EEYPHE

HRORT

?:(? NN 1: l;'t”{-r‘:ﬁ § i

P RE 2 H 15,400 6,380 21,780 1,000 >

RAE - FRE

EHEE A

— B F T T RTY FA00 A2 HTEERY Y 0N > FEY P PR -
:\a#§3£%§i£@?r%ﬁﬁjaﬁzﬁi’h*awﬁﬂﬁﬂgswmo
= B EF Y 10,800 & (A2 7,200 A+& 2 3,600 ) F # k12 EBE 4 H
o R 10,80071’45??3,]%3\4&.&§iﬁii$7200m°F’Fﬂ4cf3r§ﬁJ‘2J‘ri§§
o BRE 2B r%ﬁ*ﬁfﬂnﬁyﬁ’*? P13 BN R Y R 3,600 &
Y PRIk RALFIE S F ey B RFALIIE BY AL
A ik R AR 1R %Ewﬁifiié‘?/»\%‘f»]&:%‘f °




B

ERHERTAFIDBEER S 25D P TN F iy iy gL
103 &# 6% 10 p =4
CEHRTINIZE 0T Y 28 p %% (- )F % 1030110661 5% &

S BT (ARAE FEAET) 10367 10 B
, ;(Eaﬂ, = - . 2
) i ;: §A\a§, 1(%&\;7,‘%'1
BRI T B AL
Fopr k8 R T B A AL T
= % % A
E] #g/’l‘:ﬁ—-f};
, 374 111,546 | A72 01,490
& AL TT e Y ]
}‘i‘} ii g;; =4 111,390 =4 11470
M i
=S
S HT sy s il
S aFT B S AL
2 :uml?';”{")' 5 A A fT
LX) . e 57409975 | 374 11490 |
M RUEAE, i i il W 4 19,840 411470 N
FRF T B RS AL R A
PR R AAALTT
BBELE CFRE LT
B KT EEY RS L
1 374 19975 | At4 : 1,490 N
o AAFT AL EREF T L 419840 | 2 1,470
- HTRL R AL FRRT L 1034 B SRR L 1025 -
S~y AE-2%FY 7 400 ~ 2 fﬁ?&*wlé"* 290~ EFHap Bfﬁi » Tk
BEAAPD B AR LS -
ERE A 7 (FALrr12,000 ’D/ﬁ S L FT 17,000 ~/E )
=a AMUFLAfBR R ET A TR EAY () L5t 2 (3) A T

FPHL gLt (2) FYRF PP TRELETRY 0 BIrRLRRE F9 50
ARk S

o BEAHETVE BT A0 (BR/EE) FARI2,330 20 BV AL T AR B
HAERY R AR T MBEL -

7 ,',}/ 3‘43 I‘ﬁff’é_ﬁg_ﬁJ f‘;%ﬂ-,_;gal s i’ﬂ% ﬁ&}*\ﬁﬁ'—fé_‘\? ﬂlf ?,'v 90 ~ o

)

<.
1

R AR

&
o b

= \ﬁf-}ﬂ’g?*rspgﬁg_i s LR & B 2R §A\%ﬂiﬁfﬂgﬁj
12

_I
1T Bt fr’%ﬁ"—‘kwﬁ{é.zf’“éﬁifl\%ﬂﬂ iz 1<

FLE
(i

‘vm&%ﬂ
% |
B 5
pas

PR
§




